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HPE_CIEF10_X-Zapfen-Empfindlichkeit  y−max(λ)=1
m−F10_X,1(λ)=B21x

−
F10_X,1(λ)+B22y

−
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−

F10_X,1(λ)
B2j −0,4299 1,2038 0,0862λ=540

P60:Σm−F10_X,1(λ)=19,53
xF10_X,1=0,3217
yF10_X,1=0,3315
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P55:Σm−F10_X,1(λ)=19,30
xF10_X,1=0,3327
yF10_X,1=0,3410
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P50:Σm−F10_X,1(λ)=19,04
xF10_X,1=0,3460
yF10_X,1=0,3518
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P45:Σm−F10_X,1(λ)=18,77
xF10_X,1=0,3625
yF10_X,1=0,3640
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P40:Σm−F10_X,1(λ)=18,47
xF10_X,1=0,3831
yF10_X,1=0,3775
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P35:Σm−F10_X,1(λ)=18,17
xF10_X,1=0,4088
yF10_X,1=0,3916
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P30:Σm−F10_X,1(λ)=17,90
xF10_X,1=0,4412
yF10_X,1=0,4051
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P25:Σm−F10_X,1(λ)=17,75
xF10_X,1=0,4815
yF10_X,1=0,4147


